MATHS

BOOKS - JMD MATHS (PUNJABI
ENGLISH)

Integrals

1./((:05:1: + sinz) dx is equal to :



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_K4WtSylDyx4I

A.cosx — sinx + C

B.cosx + sinx + C

C.—cosz + sinz + C

D.—cosx — sinx + C

Answer:

° Watch Video Solution

2. Select the correct answer : ﬁ:a,n2 rdx

A.sec’z + C


https://dl.doubtnut.com/l/_K4WtSylDyx4I
https://dl.doubtnut.com/l/_1BIH959vEp65

B.secx + C

C.tanx —xz + C

D.secx —x + C

Answer:

o Watch Video Solution

dzx
3. Select the correct answer :
3r — 2

1
A. glog|3w — 2| +c

B.log|3x — 2| + ¢


https://dl.doubtnut.com/l/_1BIH959vEp65
https://dl.doubtnut.com/l/_CQ0DGC9UMtfQ

1
C. +C

(3z — 2)°

D.3log|3z — 2| + C

Answer:

o Watch Video Solution

dzx
4. Select the correct answer : /
zvx? —1

A.log‘a: + vx? — 1‘ +C

B.cos 'z +C

C.cosec 'z +C


https://dl.doubtnut.com/l/_CQ0DGC9UMtfQ
https://dl.doubtnut.com/l/_enhkSHWyuATV

D.tan_l( z — 1) +C

Answer:

o Watch Video Solution

5. Select the correct
/e“’ (tan:c + sec? ac)da;
Ae’tanx + C
B.e“sec’z + C

C.esinz + C

answer



https://dl.doubtnut.com/l/_enhkSHWyuATV
https://dl.doubtnut.com/l/_Mzkhki4zEI2O

D.e*cosxz + C

Answer:

o Watch Video Solution

6. Select the correct answer : /94l°g$daz

A e410gac + C

B. 4e*l°8® 4


https://dl.doubtnut.com/l/_Mzkhki4zEI2O
https://dl.doubtnut.com/l/_U71Xq2l7bBDC

Answer:

o Watch Video Solution

dzx
7. Select the correct answer : /
xlogax

A logx + C
B.log(logx) + C
Cz+C

D. (logz)® + C

Answer:


https://dl.doubtnut.com/l/_U71Xq2l7bBDC
https://dl.doubtnut.com/l/_WXenftYH7Jyi

° Watch Video Solution

8. Select the correct

2
/ (sin:c + :c3)da:

2

A2
B.1

C.0

answer



https://dl.doubtnut.com/l/_WXenftYH7Jyi
https://dl.doubtnut.com/l/_IskptcvhIQ1R

| ' Watch Video Solution |

9. Select the correct answer : Find a if
a
/ 3z’dr = 8
0
A 3
B.1
C.2

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IskptcvhIQ1R
https://dl.doubtnut.com/l/_HWzbvxN77RKb

2
10. Select the correct answer : /
1

A log( 2
log| 3

1
2

¢ Lioa( 2
9%\ g

Dll 2
. 5 log

B. —logb

Answer:

xdx
x2 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_HWzbvxN77RKb
https://dl.doubtnut.com/l/_nJgb6CFkQ0BM
https://dl.doubtnut.com/l/_wi592xORyTwU

11. Fill in the blanks : ‘int(sinx)/(cox”2x)dx =

o Watch Video Solution

12. Fill in the blanks : / S eveeeeeeseesnens .

o Watch Video Solution

13. Fill in the blanks : /can2 LAL Zerereerenen )

o Watch Video Solution



https://dl.doubtnut.com/l/_wi592xORyTwU
https://dl.doubtnut.com/l/_TVzyjvDsDylm
https://dl.doubtnut.com/l/_yKMWVvsY16LR

14. Fill in the blanks : f:os eCrdr = ... )

o Watch Video Solution

o dx
15.Fill in the blanks : | — =............. )
Ox2 — 4

° Watch Video Solution

16. State True/ False : The value

2
/ sin® zdz is O.
D)

of



https://dl.doubtnut.com/l/_yKMWVvsY16LR
https://dl.doubtnut.com/l/_v7Ym2q2FdXsY
https://dl.doubtnut.com/l/_0tCF1HzdHZCr
https://dl.doubtnut.com/l/_YEf0h6pvJvRg

I 0 Watch Video Solution I

17. State True/ False : The value of /631°gxac4d:1:

is e3l08z | O,

° Watch Video Solution

18.Fi||intheb|anks:/ 2de .

1 — cos2c

° Watch Video Solution



https://dl.doubtnut.com/l/_YEf0h6pvJvRg
https://dl.doubtnut.com/l/_00fL3Qv2m0PP
https://dl.doubtnut.com/l/_VBHY45UySMvs

1+t
19.Eva|ute/ * ana:dw
1 —tanx

o Watch Video Solution

dx
20. Evalute /
32 — 2x2

o Watch Video Solution

3
21. Prove that/ sin 2z logtanxzdx = 0
0

o Watch Video Solution



https://dl.doubtnut.com/l/_EOFHw4B8kQgn
https://dl.doubtnut.com/l/_FHXgEVsyBUs6
https://dl.doubtnut.com/l/_Hidg7QSomgyr

22. Evalute /\/x2 + 8x + 4dx

o Watch Video Solution

1 — sin2x
23. Evalute dzx
x + cos? x

o Watch Video Solution

dx
24. Evaluate /

1+ sinx

o Watch Video Solution



https://dl.doubtnut.com/l/_syvPRlmyn5E7
https://dl.doubtnut.com/l/_8fYGHRVVThGL
https://dl.doubtnut.com/l/_6ScRHsyHGlxq

25. Prove that/af(w)da: = /af(a — x)dx
0 0

o Watch Video Solution

26. Evalute / dz
V7T — 6z — x2

° Watch Video Solution

27. Evalute /sin ha sin 3xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_JbW2FQtQjfmt
https://dl.doubtnut.com/l/_gq9XxTTtVhuq
https://dl.doubtnut.com/l/_VRsFFhel7VzH

in(2 tan ! :1:)
28. Evalute /S dx
14+ 23

o Watch Video Solution

d
29. Evalute/ <
V15 — 8x2

° Watch Video Solution

4
30. Evalute /ac 1 dz.
x2 +1

o Watch Video Solution



https://dl.doubtnut.com/l/_AynMt7gG506V
https://dl.doubtnut.com/l/_oyamRW0Z2zIs
https://dl.doubtnut.com/l/_vTspO9RT9TYy

31. Evalute/ dz
V16 — 22 — 212

° Watch Video Solution

32. Evalute fn tan ! zdx

° Watch Video Solution

33. Evalute ‘int_0"(pi/4) 2tan”3xdx’

° Watch Video Solution



https://dl.doubtnut.com/l/_UUPhTtchVVpr
https://dl.doubtnut.com/l/_531locTKCtu1
https://dl.doubtnut.com/l/_kmu58sU8zLSP

34. Evalute /sec3 rdx

o Watch Video Solution

35. Prove that if f is an odd function, then

/f Jdz = 0. Use it to evaluate

! 2
/ log( +w)dx
1 2—z

° Watch Video Solution

in(x — a)
36. Evalute /s
sin(z + «)


https://dl.doubtnut.com/l/_BJvoSISwgLFe
https://dl.doubtnut.com/l/_84n8yGajwI5l
https://dl.doubtnut.com/l/_yKXdhjyxqkdh

° Watch Video Solution

211
37.Eva|ua|te:/ew :13—+2 dzx.
(z + 1)

° Watch Video Solution

ax 4z 3332
38. If [(e* 4 bx)dr = "4 + 5 find the

value of a and b.

o Watch Video Solution



https://dl.doubtnut.com/l/_yKXdhjyxqkdh
https://dl.doubtnut.com/l/_iv3Bs8OWvM0p
https://dl.doubtnut.com/l/_a91KXEWClVAg
https://dl.doubtnut.com/l/_9Ik3aRqh9lJi

39. By using the properties of definite

integrals, evaluate the integral:
2
/ x+/2 — xdx
0
° Watch Video Solution
40. Write the value of

/%1 3+ bcoszx p
o 8|3+ 5sing |

o Watch Video Solution



https://dl.doubtnut.com/l/_9Ik3aRqh9lJi
https://dl.doubtnut.com/l/_0b46EMUXRXPw

sinx + cos
41. Evalute :/ dzx

1 — (sinz — cosz)”

° Watch Video Solution

1
1
42. Evalute: / dx
0 Vv2z +3

o Watch Video Solution

1

tan™ ‘' x

dx

43, Evaluate/
1+ 22

o Watch Video Solution



https://dl.doubtnut.com/l/_N6haCKgCFwOm
https://dl.doubtnut.com/l/_tKWF5SYKYVrI
https://dl.doubtnut.com/l/_VJjeF1jvVHCP

2

° dx
44. Evalute :
. xlogx

° Watch Video Solution

@ 1 T
45, Evalute : / dr = —, find the
0 4—|—£U2 8

value a.

o Watch Video Solution

46. If/ 3z%dx = 8, write the value of a.
0

r


https://dl.doubtnut.com/l/_VJjeF1jvVHCP
https://dl.doubtnut.com/l/_BqDP6rXvwXnx
https://dl.doubtnut.com/l/_BZUHUVWgoFvt
https://dl.doubtnut.com/l/_Ch2JESHqnssV

\ ° Watch Video Solution

1

tan™ " x
47. Evalute:/—da:
14+ 22

° Watch Video Solution

2 sin 2x
48. Evalute :/ 1
0 sin“x + costzx

o Watch Video Solution

B x
49, Evaluate : / dx.

o slnz + cosx



https://dl.doubtnut.com/l/_Ch2JESHqnssV
https://dl.doubtnut.com/l/_X9gCWbTn5qp9
https://dl.doubtnut.com/l/_NruLenmgwk5J
https://dl.doubtnut.com/l/_E3sW3IWoPIfI

° Watch Video Solution

50. Evalute : / dz
o D+ 4cosz

o Watch Video Solution

w/3 1
51. Evaluate/ dx
w/6 1+ vtanz

° Watch Video Solution

2 1
52. Evalute: / Tt dzx
4 — 3 — x2


https://dl.doubtnut.com/l/_E3sW3IWoPIfI
https://dl.doubtnut.com/l/_wiuBM5NHpmUF
https://dl.doubtnut.com/l/_9wakre91tTUH
https://dl.doubtnut.com/l/_yLF1WQfGErDV

° Watch Video Solution

214
53. Evalute:/Ld:c
x4 + 16

° Watch Video Solution

1 log(1 + z)

54, Evalute :/
0 1 + $2

dx

° Watch Video Solution



https://dl.doubtnut.com/l/_yLF1WQfGErDV
https://dl.doubtnut.com/l/_tvKkCxNyEYPb
https://dl.doubtnut.com/l/_lw73hHicuZow

r — 4)e”
55. Evalute : ; dx
(z —2)

o Watch Video Solution

in4x — 4
56. Evaluate : /e"” S dz.
1 — cos4zx

o Watch Video Solution

T xdx
57. Evalute : 5
0 a2cos?x + b?sin‘“x

o Watch Video Solution



https://dl.doubtnut.com/l/_WG3vilhQvNNP
https://dl.doubtnut.com/l/_00ewykFD6TNF
https://dl.doubtnut.com/l/_MNQAT5Z0A5Bj

58. Find /(sin_l :c)2da:

o Watch Video Solution

1 — 22
59. Evalute: dz
z(1 — 2x)

° Watch Video Solution

60. Evalute : /sin4 xdx

° Watch Video Solution



https://dl.doubtnut.com/l/_5HVvNJ8KUfTM
https://dl.doubtnut.com/l/_VXFXCxp7cTZ5
https://dl.doubtnut.com/l/_2G4GnZfk7LNU

5 3
61. Evalute : / Tt dzx
V2 + 4z + 10

o Watch Video Solution

4
62. Evalute : / (:132 —x)dw using limit of
1

sum.

° Watch Video Solution

2x
63. Evalualte : / dzx.

(22 + 1)(22 + 3)

I o Watch Video Solution


https://dl.doubtnut.com/l/_jcXPZGwj1Xyx
https://dl.doubtnut.com/l/_VJfq4v4HGUdl
https://dl.doubtnut.com/l/_bvmUdq0YLjKY

™

64. Evaluate : /4log(1+tan:1;)dw, using
0

properties of definite integrals.

° Watch Video Solution

2
1
65. Find :/ AT
(22 + 1)(z + 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_bvmUdq0YLjKY
https://dl.doubtnut.com/l/_9CoCse9Af5yR
https://dl.doubtnut.com/l/_ZqzaR6NjKwKN

w2

66. Evalute : d
valute /(m2+4)(x2+9) T

° Watch Video Solution

67. Evalute : /(:L' — 3) \/xz + 3z — 18dzx

° Watch Video Solution

_ (3sinf — 2)cos 0
68. Find :/ db
5 — cos26 — 4sin6

° Watch Video Solution



https://dl.doubtnut.com/l/_n9GlzvDW5iw6
https://dl.doubtnut.com/l/_4bskB30mdrCf
https://dl.doubtnut.com/l/_HfuXr8g89ZvO

244
69. Evalute : / T dx
x4 + 22 + 16

o Watch Video Solution

. (:132 + 1) (mz + 4)
70. Evalute : /(:1:2 T3 (2 5) dx

o Watch Video Solution



https://dl.doubtnut.com/l/_MlzLBMtHaJNN
https://dl.doubtnut.com/l/_eCRdmLzAGGVV

